| Efficiency vs Dxy |
> 0.1
<

S : : : : : : : : :
0,004

Y =
o T
R e A A S S
T T
O

o0sf- 1
o0af- i I

0.03F it L
0.02F+-wiordo i g
0.00F -+t T
.QJ_.\.Qfllll:llll:llll;|

T g

x | SERE PERPEY ERPETS g

0.955— .................... '

09E=56-15-10 -5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_mkFit_TToriginal
[Efficiency vs Dz | |—s— DQM_mkFit_TT_JanUpdate-noErr

—— DQM_mkFit_TT_JanUpdate-noErr1H
N 0.1 ; : ; .

9.09
Py
oo
(&)
.07
()
0.06(H 11
0.05# -1t -
0.04

...................................

i
o
>
- . :
L : :
- .

LS LB
T

0.03f

0.02f it 1

0.04 1+ [+

1Q

§e : :
= : {14 ¢
105 [HHHFHHEH-- 4 T

S
= :
L
£

IIII|IIII|I
3 —.ﬁ—

T
-
»

-2
* * [

1 X TR X TR S EEE NS g - 49- 44 2 -

0936 =20 -10 0 10 20 30

TP dz (cm)



	Contents
	Page 1


